
1,000 more or less

1 	 Write numerals to complete the table.

1,000 less number 1,000 more

2 	 Find 1,000 more or less than each of these numbers.

a)	

b)	

c)	

3 	 Use the place value chart to help you complete the sentences.

Th H T O

a)	 1,000 more than 4,192 is 

b)	 100 more than 4,192 is 

	 100 less than 4,192 is 

c)	 10 less than 4,192 is 

	 10 more than 4,192 is 

d)	 1 less than 4,192 is 

	 1 more than 4,192 is 

4 	 a)	 What is 100 less than 2,000?	

b)	 What is 10 less than 2,000?	

c)	 What is 1 less than 2,000?	
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1 10 100 1,000 10,000 100,000 1,000,0001 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

1 10 100 1,000 10,000 100,000 1,000,000

7,000
1,000

less

1,000

more

3,918
1,000

less

1,000

more

1,203
1,000

less

1,000

more



9 	 a)	 Mo thinks of a number.

	 1,000 less than Mo’s number is 5,751

	 What is 10 less than Mo’s number?

	 	

b)	 1 less than Ron’s number is 100 more than Mo’s number.

	 What is Ron’s number?

	 	

8 	 Complete the number sentences.5 	 Complete the sentences.

a)	 1,000 more than 7,163 is 

b)	  is 100 more than 2,360

c)	  is 100 less than 1,900

d)	 1 less than 1,500 is 

e)	 10 less than 109 is 

f)	  is 1,000 more than 972

g)	  is 10 less than 5,990

6 	 Complete the number tracks.

1,760 1,770 1,780

365 1,365 3,365

7 	 Is this always, sometimes or never true?

When you find 100 more than a 4-digit number, then only the 
100s column changes. 
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a)	 5,190 + 100 =	  

b)	 395 + 1,000 =	

c)	 7,090 – 10 =	

d)	 7,090 + 10 =	

e)	 4,062 – 100 =	

f)	 6,195 + 10 =	

g)	 3,070 – 100 =	

h)	 792 + 10 =	

i)	 5,000 – 100 =	

j)	 1,093 + 10 =	


